Efficiency vs Dxy(PV)
S 0.1:

0.

5 =30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit_1kstable

[Efficieng —— DQM_V0001_R000000001_Global__mkFit_CAND1kstable

o
©

o
ey

4-0.2 0 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

< [ .

o L N

§ f :

A REREEEPEPRREED Bl

s I .

> :

o I .

Y A S SN S S

2 [ .

= r N

@ - :
0.6f----deeeee e D A e
0.4:_ ............ [ —— J: ............ [
0.2+ reeeeees beeef i beeees
[ i i ; i i

o+ |

T

@
] S Ml
0%36 =20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 0.8 -
S :
S0 !
4 .
> .
> :
o .
c .
[} .
S i
k] :

E. t i
o R
3
24

b RO E1xLTLITI O

0.95
-1 -05 0




	Contents
	Page 1


